Puzzle #190
[image: image1.png]At a luncheon for physicians, all
but 40 were neurosurgeons. All
but 50 were pediatricians and all
but 60 were cardiologists.

How many of each group attended
the luncheon?




Puzzle #190

Answer

[image: image2.png]There were 75 physicians total at the luncheon.
If 40 were not neurosurgeons, then that would be
the total of the pediatricians and cardiologists. If
50 were not pediatricians, that would be the total

of the neurosurgeons and pediatricians. Each
group is included twice in the three totals.
So 40 + 50 + 60 = 150. 150/2 =175.
75 - 40 = 35 neurosurgeons
75 - 50 = 25 pediatricians
75 - 60 = 15 cardiologists










